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Theorem 1 (Rolle000) f(z)0 I = (o, 3)000000[,A|0000000000 f(a) =
f(3) 0000000 ce(q,f)0000ODO f(c) = 0.
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Theorem 2 (Cauchy) F(z),G(z)0 (o, ) 000000[,f|0000000 G'(z) #0 (<
< f4)00000000000 (1), (2)000000

(1) G(B) # G(a).

(2) ce(a,3) 00000

00000000 f(z) = 6343 G(z) - F(z) 000000000000000000000
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Theorem 3 F(z)0 I = (a,) 000000}, f|00000000000ce (o, 300000

F(3) — F(a)
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= F'(c).

Theorem 4 (0000000 (n=2)000) f(#)0I=(e,f)000000 20000000
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f) = f(a) + f'(a)(b—a) + (b—a)*. (1)



Proof. b<«000000000000000b>e000000000F(z),G(z) (a<z<b)
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f(@) = f(a) = f'(a)(z — a)
Gz) = (z—a)

G(z)#0(a<z<b)0000000000O0O0O

f(b) = f(a) = f'(a)(b—a) F(b) — F(a)
(b—a)? G(b) - G(a)
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H(z) = f'(x) - f'(a)

I(x) = 2(zx—a).
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f'(er) = f'a) _ H(cr) — H(a)
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2(¢1 — a)
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£(6) = £(a) + F@0—a) + T2y
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Fa) = f@) - @) -3 T e ot

Gx) = (@—a)
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